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Q.1 Inthe sentence identify the segment which contains the grammatical error.

The invited guests preferred orange juice than hot coffee or chilled grapes.

Ans X" 1. preferred orange juice
x 2. The invited guests
_X 3. or chilled grapes
_J 4. than hot coffee

Question ID ; 8161611708
Status : Answered
Chosen Option : 4

Q.2 Select the correct passive form of the given sentence.

The coach received the members of the team with great excitement.

Ans )( 1. The members of the team could be received by the coach with great excitement.
K 2. The members of the team was received by the coach with great excitement.
\_f 3. The members of the team were received by the coach with great excitement.

x 4. The members of the team had been received by the coach with great excitement.

Question D : 8161611705
Status : Answered
Chosen Option : 3

Q.3 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No improvement'.




Q.4 Given below are four jumbled sentences. Out of the given options select the one that gives
their correct order.

A. Anush was very afraid of stray dogs.
B. Anush’s mother saw the dog chasing her son.

C. One evening, when a street dog barked at him, Anush turned and started running.
D. The dog ran after him barking loudly and fiercely.

Ans 3 1.DCAB

,’ 2. ACDB
< 3.ADBC
X 4.ABCD

Question ID : 8161611715
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Families, particularly those with children and who have the means, are opting to (1)

from Delhi driven by the increasing air pollution and (2) impact on health. Delhi’s Air
Quality Index had (3) a three-year-low this year, post-Diwali, creating a (4) polluted
atmosphere which led to (5) problems in many, forcing people to wear masks outdoors
and install air purifiers at home.

SubQuestion No : 5
Q.5 Select the most appropriate option for blank No. 1.

Ans J 1. relocate

x 2. reinstate

x 3. reschedule

x 4. restart

Question ID : 8161611710
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Families, particularly those with children and who have the means, are opting to (1)

from Delhi driven by the increasing air pollution and (2) impact on health. Delhi’s Air
Quality Index had (3) a three-year-low this year, post-Diwali, creating a (4) polluted
atmosphere which led to (5) problems in many, forcing people to wear masks outdoors
and install air purifiers at home.

SubQuestion No : 6
Q.6 Select the most appropriate option for blank No. 2.

Ans  of 1 its
X 2. their's
X 3. their
X ait's

Question ID : 8161611711
Status : Answered
Chosen Option : 1




Q.7

Ans

Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Families, particularly those with children and who have the means, are opting to (1)

from Delhi driven by the increasing air pollution and (2) impact on health. Delhi’s Air
Quality Index had (3) a three-year-low this year, post-Diwali, creating a (4) polluted
atmosphere which led to (5) problems in many, forcing people to wear masks outdoors
and install air purifiers at home.

SubQuestion No : 7
Select the most appropriate option for blank No. 3.

o 1 hit
x 2. leaped
K 3. bagged

x 4. produced

Question ID
Status

Chosen Option :

: 8161611712
: Answered
1

Q.8

Ans

Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Families, particularly those with children and who have the means, are opting to (1)

from Delhi driven by the increasing air pollution and (2) impact on health. Delhi’s Air
Quality Index had (3) a three-year-low this year, post-Diwali, creating a (4) polluted
atmosphere which led to (5) problems in many, forcing people to wear masks outdoors
and install air purifiers at home.

SubQuestion No : 8
Select the most appropriate option for blank No. 4.

K 1. conditionally

x 2. separate

x 3. dissatisfied

« 4. severely

Question ID
Status

Chosen Option :

: 8161611713
: Answered
a




Q.9

Ans

Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.
Select the most appropriate option for each blank.

Families, particularly those with children and who have the means, are opting to (1) from Delhi
driven by the increasing air pollution and (2) impact on health. Delhi’s Air Quality Index had

(3) a three-year-low this year, post-Diwali, creating a (4) polluted atmosphere which led
to (5) problems in many, forcing people to wear masks outdoors and install air purifiers at home.

SubQuestion No : 9
Select the most appropriate option for blank No. 5.

x 1. abdominal

2. renal

3. respiratory

X € X

4. brain

Question ID : 8161611714
Status : Answered
Chosen Option : 3

Q.10

Ans

Given below are four jumbled sentences. Out of the given options select the one that gives
their correct order.

A. Navin and Jathin gathered a group of young men and trained them in fighting.
B. They wanted to build their own village where people could live without fear.

C. They lived in a jungle hideout on the banks of a river in the village.
D. Navin and Jathin were brothers and brave fighters.

X 1.DBCA
o 2.pcas
< 3.DBAC
X 4.DCBA

Question ID : 8161611716
Status : Answered
Chosen Option : 4

Q.11 Select the wrongly spelt word.

Ans

! 1. Simultaneoues
2. Simulation

3. Stylistics

X X X

4. Synthetic

Question ID : 8161611724
Status : Answered
Chosen Option : 1




Q.12 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No improvement’.

So much as you are their class teacher, you are responsible for their performance in the
examination.

Ans x 1. In as much as

J 2. As long as

x 3. As much to

x 4. No improvement

Question ID : 8161611717
Status : Answered
Chosen Option : 2
Q.13 Select the correct indirect form of the given sentence.
The traveller inquired, "Will there be a shelter for strangers?”
Ans x 1. The traveller inquired if would there be a shelter for strangers.
x 2. The traveller inquired whether will there be a shelter for strangers.
J 3. The traveller inquired if there would be a shelter for strangers.
x 4. The traveller inquired if there will be a shelter for strangers.
Question ID : 8161611706
Status : Answered
Chosen Option : 3
Q.14 Select the most appropriate word to fill in the blank.
The part of this issue is that the investigation officer himself turned out to be the
culprit.
Ans x 1. primary
x 2. real
x 3. major
J 4. funniest
Question ID : 8161611730
Status : Answered
Chosen Option : 2
Q.15 Select the most appropriate ANTONYM of the given word.
CASUAL
Ans x 1. Informal
J 2. Planned
x 3. Inspirational
x 4. Immature
Question ID : 8161611719
Status : Answered
Chosen Option : 2




Q.16 Select the most appropriate meaning of the given idiom.

Made out of whole cloth
Ans J 1. Entirely false and fabricated
2. Entirely false though convincing

3. Entirely true and convincing

X X X

4. Entirely fabricated though believable

Question ID
Status

Chosen Option :

: 8161611722
: Not Answered

Q.17 Select the most appropriate synonym of the given word.

ADJUSTMENT
Ans x 1. Cooperating
2. Compromising

3. Coordinating

L XX

4. Balancing
Question ID : 8161611728
Status : Answered
Chosen Option : 1
Q.18 Select the word which means the same as the group of words given.
Things which are of the same kind and of the same dimensions
X 1. Homophony
x 2. Homosexual
J 3. Homogenous
x 4. Homonymous
Question ID : 8161611725
Status : Answered
Chosen Option : 4
Ans
Q.19 Select the most appropriate meaning of the given idiom.
Every cloud has a silver lining
Ans x 1. Something disheartening is there in any happy situation
J 2. Something promising is there in any difficult situation
x 3. Something interesting is there in any colourful situation
X 4. Something irritating is there in any joyous situation
Question ID : 8161611721
Status : Answered
Chosen Option : 3




Q.20 Select the synonym of the given word.

QUARRELSOME
Ans x 1. Ambiguous
2. Pragmatic

3. Opaque

L XX

4. Querulous
Question ID : 8161611727

Status : Answered
Chosen Option : 4

Q.21 Select the word which means the same as the group of words given.

A song or music in praise of God
Ans 1. Epic

2. Ode

3. Elegy

L X X X

4. Hymn
Question ID : 8161611726

Status : Answered
Chosen Option : 3

Q.22 In the sentence identify the segment which contains the grammatical error.

Everyone are very well equipped with his own weapons.
X 1. very well equipped
, 2. Everyone are

< 3. with his

x 4. own weapons

Question ID : 8161611707
Status : Answered
Chosen Option : 2

Ans

Q.23 Select the wrongly spelt word.
Ans J 1. Navigetion
2. Condonation

3. Combination

X X X

4. Molestation
Question ID : 8161611723

Status : Answered
Chosen Option : 1




Q.24 Select the most appropriate word to fill in the blank.

There was a huge in the stomach.
Ans x 1. tremor

J 2. tumour
x 3. tuber
x 4. treasure

Question ID : 8161611729
Status : Answered
Chosen Option : 2
Q.25 Select the most appropriate ANTONYM of the given word.
PLAUSIBLE
Ans X 1. Unmanageable
x 2. Fantastic
X 3. Feasible
J 4. Unlikely
Question ID : 8161611720
Status : Not Answered

Chosen Option :

Section : General Intelligence

Q1 o AR Fe s &, JONAIL I IRMDHO for@m srer #1 3% smor & PLMUTG & &/ forar smeem?

Ans - X 1 OOLXRK

v 2 OOLXSJ
X 3 OPLXSJ
X 4 OOLYTJ
Question ID : 8161611739
Status : Answered
Chosen Option : 4
Q2 g7 e & oS ¥, wE ¥ & R yer @ @ § ek ue e ¥ i W & 99 #
Ans of 1196
X 2 528
X 3224
X 4 360
Question ID : 8161611737
Status : Answered
Chosen Option : 1




Q3 Re v FyE Ak fewst @ wmEE w1 9 e e o Fue § & 8 e v g e
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1. @l e, SR £

2. B of e, walr 7
sy
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Ans

Question ID : 8161611748
Status : Answered
Chosen Option : 1

Q4 fr vk T F g AP F MN T@T T @ ST, aF Hid-H 3ol HTT 99 IHha T
wér g wfafew gei?

IR HTF:

N

Kt

M

e
Ja-%—g

Question ID : 8161611754
Status : Answered
Chosen Option : 3




Q5 drr & o sl F IS F v TS F AST F FA AN FeS H By g 7§ sew

Ans

a@%ﬁﬁwﬁmﬂmﬁmmwgﬁ:mwmﬁmmrm

g2 HTFf:
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>
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(®) (@)
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Question ID : 8161611753
Status : Answered
Chosen Option : 3

Q.6 Ru v 3 MW F, ‘A ‘RNeT0T TEE F ATt F, ‘B WA THAT TG F&T a@t # AR C e

Ans

A

o
BXl- 48 C
X229
X3 23

v i 41

qHE L Tl Y SATAT &1 Frder Al @ haer Refor 3T Worer qHe 8, AT @ TepEer Fdi?

Question ID : 8161611755
Status : Answered
Chosen Option : 4




Q7 seax gl & ¥ 3@ A FowHA W, R w2 WFY F @ T F @A W e @ oar

STt
R TR
3ca] ATpiaam:
1 2 3 4
Ans x 1. 4

V22
Xs3
X1

Question ID : 8161611750
Status : Answered
Chosen Option : 2

QA8 =7 Ramed &1 TU HY, oraw AW Ueg ¥ TE WA &, S gAY Aeq F TEA UE W L
et - T s dlg 2

Ans xl- m
X2 et
X 3 3greT

,’4.23;

Question ID : 8161611745
Status : Answered
Chosen Option : 4

Q9 ProfafRa Sof F wea-Rea (?) & T W IS IR FE&A F aI9T H
21%,:215;.:231, 267; 7
Ans X 1421
v 2 331
X 3 296
X4 312

Question ID : 8161611738
Status : Answered
Chosen Option : 3




& ¢ gl #F e ww §2

Q.10
Ans x 72 1.

v 144,

X 84,

X 180,

Question ID : 8161611749
Status : Not Answered
Chosen Option : --

Q.11

v e AR 3EH gema F A L ¥ HEAw A
™ oXraar?
X233k
VAR R 5
X5 3R :

Question ID : 8161611731
Status : Answered
Chosen Option : 3

e 717 Yot 1 eueEe HewTs W, AR 3W T #owET H, S TRARET (?) F T | AT

TehaT B
11 17 8
5 3 15;
3 7 ?
Q.12 361 729 1225
Ans x 25 1.

v 12,
X 21,
X 22,

Question ID : 8161611734
Status : Not Answered
Chosen Option : --




Te-fEsT (?) & TU W aTe FE; AT FY
a1z C10G, H20L, L17E, L?Q

X 30,

v 29,
X 19,
X 25,

Ans

Question ID : 8161611742
Status : Not Answered

Chosen Option : --

Q14 ez smpfort & ¥ 3@ mplay &1 w@= FY, Tt & 7 wo aply AR ¥ (g B

s 7 )
R HTplan
X
< (3
X 2
N VA
VoAl
X 4 P

Question ID : 8161611752
Status : Answered
Chosen Option : 3

38 Ry &1 9w #, Swer I8l FEwr ¥ 7@ w9y ¢, S gEd §EAr F 9ger §E ¥ g
Q.15 2197 : 12167 = 343 : 2

A #1000,
X 515,
X 729,
v 4913,

Question ID : 8161611733
Status : Not Answered

Chosen Option : --




3 IBR-THE #1994 HY, o oeaAtarad ot & gafog a8t g
a6 DEC, HIG, LKM, PQO, TUS

v X HIG,
v LKM,
X Tus,
X PQO,

Question ID : 8161611747
Status : Answered

Chosen Option : 2

7 gk gt # et Page 87

P
/

AN

ans X146
V2 32
X s 64
X416

Question ID : 8161611751
Status : Answered
Chosen Option : 4

X YR @AY, MBI MPHAEP, YR ASH T XA FTATSE THME

Ans Jlsﬂé
Xz.g'af
X 3 ofy
X4.ﬁa'r

Question ID : 8161611744
Status : Answered

Chosen Option : 1




019 33 InTER-AEE T 9IS Y, S eAfatEa Aot @ gefoe ad ¥
EC, G, HF, M, KI, T
Ans IXTM
v2T
< 3 EC
X 4 HF

Question ID: 8161611746
Status : Not Answered
Chosen Option : --

Q.20 zfy ¥ & FFew - ¥, & W HOew ), ‘@ F Adewm ), 3R+ 7 Adqew + §, O e e
= A T R

15 @ 2+ 900 & 10 # 50

Ans X 1290
X 2 50
V'3 70
X 4 21

Question ID : 8161611732
Status : Answered
Chosen Option : 3

Q21 Rt F 3@ w0 w1 999, R W gEer # Ee Bl W FEE ¥ ¥ 8 F9 9 4mer o
gr seet

mn_pmno_ _nopm_op

Ans 1. oomn
/X 2. oppn
3. opmn
X 4. mpmo

Question ID : 8161611741
Status : Answered
Chosen Option: 3

Q2?2 SrmfaifT gEer # ToA-fEa (?) & T 9 A T 3R F aaT w1
C: E,G; F,.E G; IL:H 2
Ans IXLJ
v2G
X3 E
Xa|

Question ID : 8161611743
Status : Not Answered
Chosen Option : --




Arafaf@a 4o & wa-fEa (?) F T W 3 IR =T FoTIT F
Qa3 30, 130, 350, ?

v X 64,
X 729,
X 1350,
v 738,

Question ID : 8161611736
Status : Not Answered

Chosen Option : --

v fAf¥aa gz smor &, 21683 # UFHC 3k 15654 @ OFED forar ser &1 3@ smor & 15236 #
Q.24 F1 fom@m Sreem?

e ¥ OBCF,

X FAEBC,
X AEFOF,
X FOX,

Question ID : 8161611740
Status : Answered
Chosen Option : 1

Q25 Ry aw Yo 1 AR AT FY, 3R 5@ GCA F TS FY, ST R (?) F TAH W A

T B
A A A
25/\5 23 7 % 13
ans X123

X211
X 3 21
v 13

Question ID : 8161611735
Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude(Basic Arithmetic Skill)




1 fordr aEw Rig ¥ geq W Eh o Tt #r g _ g B

Ans

XL FAEAER
v ER
X3 FEY A
X 4 SEag

Question ID : 8161611765
Status : Answered
Chosen Option : 4

Q2 R T AR W FEET F1, F2, F3 3k F4 gamr fre st o el e sua & sces ot #r
ST A Rt = gherelt F aRiter 1

800
700

720
660 620

600 %55 i 550

500 - % 30

400

300

200

100

0 T T T
F1 F2 F3 Fé4

m Production ® Sale

Croo in Quintal

e e 3 scuree & Fest & Ry #1 3Tuaw wfawd &= B
Ans X 1 F1

X2 F2

v : F4

X4 F3

Question ID : 8161611780
Status : Answered

Chosen Option : 3

Q3 .
sinx+cosx 6 tan® x+1 EF:%:I

sinx—cosx : E ,(_'ﬂ' tan? x—1 Sl A Wl

Ans 61

XL =
60
61
35
61
61
60

X 2

X 3.

v

Question ID : 8161611775
Status : Not Answered
Chosen Option : --




Q4 fegr = AR A FEET F1, F2, F3 3k F4 gamr fre ot arer el e wua & sces o #r
ST A Ry @ et & qu ¥

Croo in Quintal

F ) 0. 7
m Production u Sale

e F2 g 3c9ee & Ted H, BFue F1 &7 3cdreet haet gfaed & 82

Ans xl. 241%
33

X2 22-%
33

v 21—%
33

7y
X 4 2333 7o

Question ID : 8161611779
Status : Answered
Chosen Option : 3

Q.5 Ry s A A A F1, F2, F3 3t F4 garr e se arer it ffRaa woer & 3caea ik
St A Rt A et oF axer d1

800 720

700 660 20
0 520 500 =
45:; e 30
300
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100
0 ; : \

m Production  Sale

Croo in Quintal

Tl raTeT gam # S o [ R F Seaea F @ I Ag A

Ans X1 5:6

324
v34:5
-6 :7

Question ID : 8161611778
Status : Answered

Chosen Option : 3




U8 v FeaR A% Fr eI R ¥ AR SEA FE H §1 oF F A=A A

Ans X L mR2H
2
2.
3nR*H
J ; TIRZH
3
X % gRH?
Question ID : 8161611758
Status : Answered
Chosen Option : 3
Q

7 8—[8—(5+8)—{8—(8—5+8)}+10] F AT AT FI|
ans X110
X220
v:0
X4+5

Question ID : 8161611773
Status : Answered
Chosen Option : 1

Q8 5in30°c0560°+c0s45°sin45°
tan60°cot30°

Ans x 1. ‘\/3—

"2.1
4
X3 2

1
"

FT AT AT FL

Question ID : 8161611774
Status : Answered
Chosen Option : 2




el @ Rig @, TeREr-gEm AB IR AC H Frar ST g, st 6 cm Rswm s gea F Fx O &
10 cm #r g = §, @ TGt ABOC T &9wal cm® H A1d H

Q.9

ae <60,
v 48,
X 72,
X 52,

Question ID : 8161611766
Status : Not Answered

Chosen Option : --

AABC #, DE, BC & WA 8, AD = 3 cm, AE = 4 cm 3T AC = 10 cm %, & ¥&sfreT & BD &
Q_lommﬁl

. X 55
X 35,
v 45,
X 75,

Question ID : 8161611768
Status : Answered
Chosen Option : 3

Q11 o grae 1 3fa Fed 2900 ¥ 10% F & FANE gE &F F A [AF F @HT TeT AT F
Ans - X 13800

X 2 820

v 3 3729

X 4 749

Question ID : 8161611760
Status : Answered
Chosen Option : 3

TR kP + 42+ 3x— 43X P —4x + k @7 (x— 3) T Fenfoa fomar smar &, o 9A dvwer s=ar ) &

FT AT AT HL
Q.12

s K1
X 2,
X 0,
¢ =,

Question ID : 8161611770
Status : Answered
Chosen Option : 4




I, Hea Ak R B w1 F FEe 12 Ra, 10 Ra 3k 15 Ra & @ = gwa §1 W@, A ok
aMfdg vk Ty e 3@ 717 & o {7 § @ X @ €2

X 2,

Q.13

Ans

N

X € X
o &

Question ID : 8161611756
Status : Answered

Chosen Option : 3

T v FH Ag B 10% & T W I § AHR AgF $8§ MG F 20% F A W A= gl I
Q.14rﬁﬁamﬁv%1,320a:ragﬂamm%,Fﬁzﬁ'%‘%@m&wmaﬁl

e X 2980,
v 1,000,
X %900,
X 2800,

Question ID : 8161611762
Status : Answered
Chosen Option : 2

Q.15 zfy AABC, £ABC = 90° aTell T FWHHIUT ayer & 3 AC = 10 cm, BC = 8 cm &, & AB & &g
T HX

Ans X 1 2 em
X212 em
V36 cm

X 418 cm

Question ID : 8161611767
Status : Answered
Chosen Option : 3

3800#% ¥ 15% ¥ 18% &1 JT AT FII

Qs
. X 583,
v 285,
X 385,
X 582,

Question ID : 8161611761
Status : Answered
Chosen Option : 2




65 oSt arer weg #r e g 32 a¥ #1 IRy 5 g7y W sw wegg A afAw @ € A 70
oSt 1 tEa 3y 34 ¥ @ S {1 & 9g F e a5 g f twa 3y (a§t F) =

Q17 F

v ¥ 60,
X 50,
X 65,
X 55,

Question ID : 8161611759
Status : Answered

Chosen Option : 1

Q.18 .
I sinx = %,0 < x <90° g ar cotx.secx F AT AT I

Ans

XL
X 2
X 3.

‘/4.

wWlon Gl gl w W

Question ID : 8161611776
Status : Answered
Chosen Option : 4

T e wwg &, % ol Ted # 9 T & S g1 9 S oX 16% poa. &, & @ e
Q.19 T (@ #) a F

e ¥ 25
X 38,
X 30,
X 32,

Question ID : 8161611764
Status : Answered
Chosen Option : 1




R 7 feer & v Aexaie 2 5 F 24 km AR urr & Aol 1 9 & 10 km S ¥ freieT 9
Q.20 e F AegEe f 9 Ja =

ae <10,
X 12,
v 11,
X 14,

Question ID : 8161611757
Status : Answered

Chosen Option : 3

Q21 [(@2—b2)* + (0% — 2P+ (c?—a®)®] + [(a—D)*+(b—c)P+ (c—a)®] & AT FEF awaw 82

fmgamg azb=o)
X 1 (a®+b*)(B* +c?)(c® +a?)
X 2 (a®> - b*)(b*> — c®)(c* —a?)
V3 (a+b)(b+c)(c+a)
X4 (a=b)(b—c)c—a)

Ans

Question ID : 8161611771
Status : Not Answered
Chosen Option : --

FEx:y=3:23Tx+y=90% a (x - y) F AF AT =T

Q.22

as 16,
X 12,
X 14,

v 18,

Question ID : 8161611763
Status : Answered
Chosen Option : 4

o a=2b 2, @ Z2 A= AT F=H

Q2 a—b
s 6,

X 5,

v 3,

X 4,

Question ID : 8161611769
Status : Answered
Chosen Option : 3




Q.24 Ry aw  fFEE F1, F2, F3 3k F4 a1 e oo arer et fafdae woa & 3o siv &
S A R Faeit F gefar ¥

SE888
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F1 F2 F3 Fa
® Production u5ake

Tl et gar 3= 7 wEe F HEd Faen F A H]
ans of 1490

X 2 470

X 3 510

X 4 530

Question ID : 8161611777
Status : Answered
Chosen Option : 1

Y Y FTdTEm 7k 1A ¥ R
Ans 116,324

X 216,425

X 312,235

X 4 16,257

Question ID : 8161611772
Status : Answered
Chosen Option : 1

Section : General Awareness

Ql 7 gar Farw @i’
Ans x 1.m3.ﬁ-.;;;.|aq:rrwfq'a—'z3q ad

X2.W@- 33Ty FH NHFET T T

V' 3 s smaeararor ARt o TR T STEEERER £ iy AR e
3 TH B

X“-m e My 39 ¥

Question ID : 8161611789
Status : Not Answered
Chosen Option : --




Q2 rqgAT auATAN 5 A @ & IR T

Ans X 13
X 2.6
X 3.5
v ZW!

Question ID : 8161611804
Status : Answered
Chosen Option : 4
Q3 o “sEraten 3iterTE T e WFA F WIATAREE HHEY Wh § T T B’
Ans X 1.1767
X 2.1764
W 31765
X 4.1766
Question ID : 8161611797
Status : Answered
Chosen Option : 3
Q.4 ?
HRAF AA ] T qaE I Flaad
A
ns X L 3iramer m
X 2 e
v FHAN &
X 45 ATOHEH
Question ID : 8161611802
Status : Answered
Chosen Option : 3
Q5 z o ergar g 72019 5 wwdvwh (PO w ax w/mwa wE
Ans  off 1 3 o
X 2.7 gemits
p QERT
X 43 s
Question ID : 8161611800
Status : Answered
Chosen Option : 1




Q.6 IR & FriER aRug § afffed g arer v wRda #i ur?
Ans  of 1wz vaTe R

< 2. 3 sref dam

2 3. .ga. Ra@nt smr

X 4. dswgIR EY,

Question ID : 8161611798
Status : Answered
Chosen Option : 4

Q.7 #fgen ey e e A= 2019 fre= sfidi?
Ans X 1. geEraReT s

X 233

X 3. firft

o 4 ehare

Question ID : 8161611786
Status : Not Answered
Chosen Option : --

Q.8 aﬁﬂ@dw(qmﬁﬂ),mﬁmmﬁ;aa?
Ans ' 1 fRarae we

o 2 Ffew

X 3. TR we

X 4. 7eRE

Question ID : 8161611783
Status : Answered
Chosen Option : 3

Q.9 zrgufa § qeg & Fror I gf e Reven & 2R wgufa & w9 d = & a=ar @2
Ans X' 1. Eiera aremer

X 2. 9Ra & g g

W 3. suEufy

X 4. Mg Ao e

Question ID : 8161611801
Status : Answered
Chosen Option : 3




Q.10 I | 2 $-99€ () A AT BIe (FTH) FY JIF FAT?
Ans " 1. #IBT (Moho)

x 2. UAFHSH (Lithosphere)

X 3. AT A o (Stratosphere)

X 4. AT HST (Asthenosphere)

Question ID : 8161611794
Status : Answered

Chosen Option : 1

Q.11 F YT & > A, VRML T 37 AT T §?
Ans x 1. FST3TeT TT I AT 379 o doT (Visual Reality Mark Up Language)
X 2. HET}TFTWFFCH?ﬁHHaGT(VirtuaI Reality Machine Language)

3. IST3TeT TTC oI AN o I (Visual Reality Machine Language)

J4. agraﬂwa?:mmaés{ (Virtual Reality Mark Up Language)

Question ID : 8161611781
Status : Answered

Chosen Option : 4

Q12 Grgdr dig (generation) s & gy I EATA T SURITHAT STaT
J 1. u$$FF|-:{-q-?‘]-(lntegrated circuits)

x 2. ¥ W (Vacuum tubes)

X 3.;:"3- o {:m(Microprocessors)

x 4. S (Transistors)

Question ID : 8161611782
Status : Answered
Chosen Option : 4

Ans
Q.13 FH A EAT 3 TAT <N A T A golT oRT TAT U FHI b 3l TATT 7 37 o T T (IS Tl T E?

Ans x1.€h1’r32}i?r
"z.a;ﬁm

x?,,éwm

X 4.gAaTIom
Question ID : 8161611785

Status : Answered
Chosen Option : 2




Q.14 TATH AT FHa=T g?

Ans x 1.1.74 x 105 m
2.1.79x 1076 m

3.1.78 x10"6 m

L XX

4.1.74x10"6 m

Question ID : 8161611792
Status : Not Answered

Chosen Option : --

Q.15 9Rd # T TIaY T AYeTaT & 319 ¢ ar o

Ans 1.1951-56
2.1961-66

3.1956-61

X € X X

4.1969-74

Question ID : 8161611788
Status : Answered
Chosen Option : 3

Q16 gy & gaer 2019 7 3y T e WaR 931 e AEF Af TAT S dw@ FAT AT’
Xig
X 2 s
v 3 e
X 4 o

Question ID : 8161611787
Status : Not Answered
Chosen Option : --

Ans

Q.17 W &2 ¥ e AT T & T T HR AT I et & WO & 82
ans XK s

JZ.EJ,H?TI'H

s e

x4,a T

Question ID : 8161611799
Status : Answered
Chosen Option : 4




Q.18 43 & HAT F TR U, T HT Fad 95T &1 & STH FH S 7 T 82
Ans x1.31"T S o

JZ.QTEFHFT

s e

x4.;ﬁav»rs'

Q.19 °TH & Go AT I $H g1 91T 1 §2

Ans x1.3~ﬁ S o

«2.3-1' Cal
XS.U?R:IT

X4.31'ﬁm

Question ID : 8161611805
Status : Not Answered

Chosen Option : --

Q.20 W (B“ta“e)ﬂvwmaﬂ aT a.?
X 1.CHyg
X 2.C4Hg
Y ENIT
X 4.C4Hg

Ans

Question ID : 8161611796
Status : Answered

Chosen Option : 2

Question ID : 8161611790
Status : Answered
Chosen Option : 4

Q.21 ¥ I (Chenchus) 3T T FAST , 3R & F8 T T ¥ WS U §?

ans X 1. AT

‘,z.a?mm

xs.tr H §aTeT

X4.éﬂ?~r

Question ID : 8161611784
Status : Not Answered
Chosen Option : --




Q22 o3y efiamrelieiite ¢ @ A FE AT STHTIT
YRR

X 2aq

X 3

Xag

T4

gradeup

Question ID : 8161611803
Status : Answered
Chosen Option : 1

QA2 g F W TN HAATa ¢
Ans  of 1.1013.25 pq

X 2.985.14 pa

X 3.886.13 paeo

X 4.1100.12 o

Question ID : 8161611795
Status : Not Answered
Chosen Option : --

Q24 gmasrFas qmT & @ FAFS @ Faem srawar @t
Ans X 1

24

X 3.2

X a6

Question ID : 8161611793
Status : Answered
Chosen Option : 1

Q25 Femw wsa 5@ @z A Ih W &
Ans J lg W(Arthropoda)

x 2. QW(Echinodermata)

X 3. et EFI.(Mollusca)

x 4, qF# (Nematoda)

Question ID : 8161611791
Status : Not Answered
Chosen Option : --




